1. Distribution loss factor calculation from ERCOT Protocols section 13.3.1.1:
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Where:



i
=  settlement interval

SILFi
=  Settlement Interval Distribution Loss Factor

ADLF 
=  Annual Distribution Loss factor

K
=  a factor provided by DSP between 0.0 and 0.1

SIELi
=  Settlement Interval estimated ERCOT System Load

AAL
=  Annual Interval Average ERCOT System Load

2. Settlement Interval Losses

Total losses at a give system load are equal to a “no-load” loss component which does not vary with system load, plus a “load” loss component which varies with the square of the system load.
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Where:


NLL
=  No load losses


ALL
=  Average load losses (at average system load AAL)


3. Total losses at Annual Interval Average ERCOT System Load
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Where:


ADL
=  Total losses at Annual Interval Average ERCOT System Load



4. Substituting:

[image: image4.wmf](

)

2

 

÷

ø

ö

ç

è

æ

*

-

+

=

AAL

SIEL

NLL

ADL

 

NLL 

SIL

i

i




5. Multiply by ADL / ADL: 
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6. Definition of K factor:

K is the fraction of losses at average load due to “no-load” losses.
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7. Substituting:
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8. Calculate loss factor:
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9. 
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10. Assume:
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11. Substitute:

[image: image11.wmf](

)

ú

û

ù

ê

ë

é

÷

ø

ö

ç

è

æ

*

-

+

÷

÷

ø

ö

ç

ç

è

æ

*

*

=

AAL

SIEL

K

 

 

SIEL

AAL

K

ADLF

SILF

i

i

i

1

 



This is what the equation for SILFi ought to be.


12. Assume K = 0 (no-load losses equal to zero):
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or
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This gives the same result as the equation in the ERCOT protocols.


13. Assume K=1 (losses are constant):
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or
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This is not the same result as the equation in the ERCOT protocols. The equation in the protocols is a constant when K = 1, this equation is a hyperbola.
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